A | B |EB =15 B XEF—L BR XEF—L
67| TG 14:00 NTIT:i - Z U lselect
67| BTG 16:00 FPEE - #ED

6 14| £ WG 14:00 WILEET - NI

6 14| £ WG 16:00 NI - WILTE

6 (15| H HIERG 10:00 A - #ED
6|15 B FEG 12:00 ML T T - FPEE
716 | H WIG 16:00 ML TZT - NITE S
716 | B8 WTIG 17:30 WILT S - NTINE)
8|23 £ FERG 16:00 A - NITE S
8|23 BEG 17:30 FPEX - Iselect
83| £ MIG 16:00 ML TZT - WILTE
83| MIG 17:30 WILT S - Iselect

12| 6 | & BIAG 10:00 P} - Z U lselect
12| 6 | & BIAG 12:00 ENTITE] - FPEE

9 (14| H FHEG 10:00 WILEEET - #ED

9 (14| H FHEG 12:00 N TS - WILTE

9 (15| H HEG 10:00 A - FPEE

9 (15| H HEG 12:00 ENTITE] - Z U lselect
9 20| = BIAG 13:30 A - NI

9 (28| H WG 15:00 A - WILEET
11| EG 14:00 CNTIESES - Z U lselect
1019 B #HG 10:00 NI - #HED
1019 B #HG 12:00 NTIT: - LS
10| 26 | H FEG 10:00 ML TS - A

10| 26 | H FEG 12:00 NI - NTTE S
10 26| B #HG 10:00 ML T T - #HED
1026 | B #HG 12:00 NTIT: - FPEE
1| 2| H# WEG 10:00 CNTIESES - TN

1"l 2|8 WEG 12:00 = - NI

1"l 2|8 #FHEG 10:00 LS - #HED
1"l 2|8 #FHEG 12:00 ML T %S - MILTET
1| 8| x NG 14:00 WILFEET - NI

1| 8| x NG 15:30 WILES - Z U lselect




A | B |EB =15 B XEF—L faR XEF—L
1"l o 8 $THG 10:00 MILT %S - #ED
1"l o 8 $THG 12:00 MILT T - L
1"ml15| $THG 10:00 NTIT:i - #ED
1"ml15| $HG 12:00 FPEE - NI
1|16 | B HIERG 10:00 A - WLTET
1|16 | B FERG 12:00 MILT %S - WILEET
1|22 x PG 15:30 #ED - Z U lselect
11|22 8 PG 14:00 WILEEET - RPRE
12| 6 | = FERG 10:00 A - Z U lselect
12| 6 | = HAG 12:00 AT - RPEXE
121 7| H N e 14:00 LT - ML T T
121 7| H N e 15:30 WILT#S - ENTIE S
WILTET - Z UV &lselect
WILT#S - FPRE




